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LISTA 6 - INGLES

As questdes de nimeros 10 a 12 referem-se ao trecho!

Unlike corn, which accounts for the bulk of LS. ethanol, sugar
caone is also grown in areas where it is less likely to compete with
grains such os wheot or other varieties of maize that are vital to
global food supplies.

BTD UFSCar 2009 A palavra wnlike indica:

contraste. opiniio.
semelhanca. desgosto.
desaprovagio.

m UFSCar 2009 A palavra it refere-se a:

corn. wheat.
ethanol. sugar cane.
maize.

m UFSCar 2009 A expressio such as significa, em portugués:
bem comao. exceto.
tais como. tanto que.
nem mesmo.
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